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[ARD312] Span of control helps to control -----
under utilisation

[ARD312] Which of these is not an auxiliary service
planting

[ARD312] Management presupposes three different approaches except---
the who

[ARD312] Every member of an organisation has some management and --- functions
reporting

[ARD312] The major objectives of management are to plan organise, lead & ---
control

[ARD312] Leadership provides ---- for an organisation
direction

[ARD312] Future does not involve----
yesterday

[ARD312] Controlling involves monitoring/checking progress against---
plans

[ARD312] Fredrick Taylor is the founder of --- theory
functional
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